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Note: On this sectioh the Scuzzy
contact lies approx. 680 m
\ south-easterly of the collar
of DDH8302.
DDH8302 Note: Breccia intersected in
COLLAR TALUS DDH8302 not observed on surface.
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224' — Volcanic breccid |
233' — Volcanic breccia
256' — Andesite
313' — Silicitfied andesite porphyry
[:h " "
367' — Andesite porphyry mes Chevron Canada Resources Limited

i Minerals Staff

CATARACT PROPERTY

370" — Andesite porphyry

Note: The discrepency in the position of Ref. A.L. Littlejohn , Aug.l983
the drill with respect to the cliff on
top of which the hole was drilled is
believed the result of incorrect map

elevation datum. See note on plate I2
Revised October 1983.
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